LOSS

TPM /

Time available

(24h=T)

Planned runtime

Planned stop time

Production time

Change time(color, tools,test) :

Net Production time

Unplanned stop time

Usable Production time

Timeloss (

Net Production time

LOSS

Time available

Planned runtime (
Production time

Net Production time
Usable Production time
Net Productive time

Planned stop time

Time to produce shringkage

- 24h=T
) - T-T Stop
- T-T Stop-T Prep.
— T-T Stop-T Prep.-T Trouble
— T-T Stop-T Prep.-T Trouble-T Loss
— T-T Stop-T Prep.-T Trouble-T Loss- T Defect

- T Stop

Change time(color, tool, test) , , - T Prep.

Unplanned stop time

Time to produce shrinkage

Timeloss

(

— T Troubletime
- T Defect
) - TLoss



Availability(T) - Planned Stop Time(Tg o) -
Availability(T)

Benefit(TPM) = 100 =

Planned Availability = MM - Taoe) - ChANGETIMETerep) - 4 (
RUNtime(T - To o)

Operating timeg(T - T. -T - Unplanned Sop Time(T- .
PrOdUCtion readl ness = p g e( STOP' PREP) p p e( TroubIeT|me) - 100
Operating time(T - Tgop - Tprep)

Usable operating time(T - Tg; - T - Ty - T,) - Timeto produce shrinkage(Tyeeeer ) -
Usableoperating time(T - T, - Tq- T - T))

100

Quality rate=

Productivity = Planned Availability” Production readiness =

OEE = Productivity” Performance effectivity” Quality rate

- -

~ 100

o
o

_ae
&

OEE = Overall equipment effectivity

"~ 100

" 100

~ 100
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_ Net production time( ) ® What isthe effectivity during production

Planned runtime( )
NEE = Production readiness( )~ Performance effectivity( )" Quality rate( )
NEE = Net equipment effectivity ( )
_ Net productl.on tl.me( ) ® What i sthe machine doing during runtime
Production time( )
TEEP = Benefit( )~ Productivity( )~ Performance effectivity( )" Quality rate(
_ . 0. _
- & o
TEEP = Total effective equipment productivity ( )
— Net production time( ) ® Machine condition and capacity( )

~ Time you have machine(



